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2 +2x=3>0

X 5| -4 -=-3|-2]-1
x2+2x-3| 12| 5 0 | -3|—-4
27.
X 0 1 12| 3
x2+2x=-3| -3 0 | 5|12

The solution of the inequality is x < =3 orx > [.

x?—=2x>8
¥ —2x—820
X —4|-3]|-2|-1] 0 I
29| x*+2x-8|16| 7| 0 | =5|-8| -9
x 2 3 14|56
x*’+2x-8| -8 | -5 0| 7|16

The solution of the inequality is x £ —2 or x 2 4.

x2=10x<—16
¥ =10x+ 16<0
p% 0 ] 9 3 4 5
31 || ¥*—=10x+16| 16 | 7 | 0 | =5 |-8| —9
P% 6 7 8 1 9|10
x2-10x+16| -8 | =5 | 0| 7| 16

The solution of the inequality is 2 < x < 8.




33.

3x2=6x—2<7
3x2—6x—9<0

x2—2x—3<50

X =3 | =2 =1 | 0 1 2
x2-2x-3 | 12| 5 0O |3 —4| -3
X 3 4 5

x2=2x-3| 0 | 5|12

The solution of the inequality is —1 <x < 3.

35.

x2—6x<0

x=0o0orx=6

1s0<x<6.

The solution of the inequality

x> —6x=0 ‘&‘ j
(x—6)=0 2
x(x j\ [5




